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*FRX I (1)
sinx = shx = cosy * chy

+

cosx = chx = siny = shy={sin(x+y) = sh(x-y) + sh(x+y) - sin(x-y)}/2

X I (2)
cosx * shx * siny * chy

sinx = chx = cosy = shy={sin(x+y) = sh(x-y) — sh(x+y) = sin(x-y)}/2

X I (3)
sinx = chx = cosy = shy + cosx = shx = siny = chy={sin(x+y) = sh(x+y)

sh(x-y) = sin(x-y)}/2

xFFX I (4)
sinx = shx = cosy = chy + cosx = chx = siny = shy={sin(x+y) = sh(x+y)

+

sh(x-y) * sin(x-y)}/2
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PRI (1)
cosx * shx = cosy * shy + sinx = chx = siny = chy={cos (x-y) = ch(x+y)

ch(x-y) = cos (x+y)}/2

xR I (2)
cosx * chx = cosy * chy + sinx = shx * siny = shy={cos (x-y) = ch(x+y)

+

ch(x-y) = cos(x+y) }/2
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cosx = chx = cosy * chy — sinx =

HPX I (4)

cosx = shx = cosy * shy — sinx =
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A (1)

cosx = chx = cosy * shy + sinx -

I (2)

cosx = shx = cosy = chy + sinx -

A (3)

cosx * shx = cosy * chy — sinx -

A (4)

cosx * chx = cosy * shy — sinx -
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AR (1)

sinx = shx = cosy * shy

ARV (2)

sinx = chx = cosy -

AV (3)

sinx = chx = cosy -
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sinx = shx = cosy -

chy

chy

COSX *

COSX -

COSX -

COSX

shx -

chx -

shx =

chx -

chx -

shx =

chx -

shx =

shx =

« chx -

siny = shy={cos (x+y) = ch(x+y)
siny = chy={cos (x+y) = ch(x+y)
siny = chy={cos (x-y) * sh(x+y)
siny = shy={cos (x-y) * sh(x+y)
siny = shy= {cos (x+y) * sh(x+y)
siny = chy= {cos (x+y) * sh(x+y)
siny = chy={sin(x-y) * ch(x+y)
siny = shy={sin(x-y) = ch(x+y)
siny = shy={sin(x+y) = ch(x+y)
siny = chy={sin(x+y) = ch(x+y)

AERTHELL., HIFECHELEREN TS,

*FRX I (1)
sinx = shx = cosy * chy — cosx = chx * siny *

ch (x-y)

ch (x-y)

sh (x-y)

sh (x-y)

sh (x-y)

sh (x-y)

ch (x-y)

ch (x-y)

ch (x-y)

ch (x-y) -

- cos (x-y)}/2

- cos (x-y)}/2

- cos (x+y)}/2

- cos (x+y)}/2

- cos (x-y)}/2

- cos (x-y)}/2

- sin(x+y)}/2

«sin(x+y)}/2

«sin(x-y)}/2

sin(x-y)}/2
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shy={sin(x+y) = sh(x-y) + sh(x+y) = sin(x-y)}/2
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i =sh(a)=sin(ia), i -=sin(a)=sh(ia), ch(a)=cos(ia), cos(a)=ch(ia) —@
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E:TxZxICEE#AS. BED. yEYICEETHRZ D,
Al:IxZ iXICEZEHZ S, BDO. yZ iyICEEBRZ 5.
A2 Tx & iXICEEHZ S, BED. yZ iy ITETH]R D,
A3 :Tx & X ICEEZHZ S, BED. yZ iy ITEETH]Z D,
M:TxZExICEEHZ D, BD. y&E-VICEZTH]RZ 5.
AS: Tx X ICEEHMA S, BED. yEZYICEZTHRA .
A6 : Tx & ix [CEEHZ S, BD. y&-iyITEETHZ 5.1
AT:TxZ-ix ICEEHA S, BED. yZ iyITEEHZ 5.1
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&A
E:(x, )= (x,¥)
Atz (x,y)= (ix iy)
A2: (x,y)= (i%, i%)
A3: (x,y)= (i%, id%)
Ad: (x,y)= (x,-y)
AS:(x,y)= (-x,y)
A6: (x,y)= (ix,—iy)
AT:(x,y)= (=ix, iy)
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OFEWX Y= (y,x) LTEBHEEZ., 16 DEICHDZEBVRAALENR, FhEEHENTH - 1=,
16x16 DIEXRFE->TLT., ERLEBZEOLE: - -
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A=1/(178+1) + 1/(3/8+ 1) + 1/(578+1) + 1/(7/8+1) + - -
B=1/(178+1) + 374/(3/8+1) + 5°4/(578+1) + 7~4/(778+1)+ - -
DA, RERDET,
A=K[a{(sh2a-s2a)-2sBshB(casha+sacha)+2cBchp(casha-sacha) }+B{(sh2B-s2B)-2sasha(cBshB+sBchB)+2cacha(cBshp-spe
hB)}]
B=K[B{(sh2a-s2a)-2spshB(casha+sacha)+2cBchB(casha-sacha)}-a{(sh2B-s2B)-2sasha(cBshp+sBchB)+2cacha(cBshB-spch
B)}]

T, a=(n/Y2)cos(n/8). B=(n/42)sin(n/8)TT.

sa. ca. sha. chald, #N<&Mnsina. cosa. sinha. coshaz&xUFET. E<RI3DOTEREUFE U/, sinh, cosh(@NBREETY ., F/oK
(&, K=1/[8*{(cBcha+cachp)”2+(sPsha-sashp)*2}]T9,
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